CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

AGENDA DATE: August 3, 2021

PUBLIC HEARING DATE: N/A

CONTACT PERSON(S) NAME AND PHONE NUMBER:

Sam Rodriguez, Chief Operations and Transportation Officer, Aviation Director

and City Engineer, (915) 212-1845

Bruce D. Collins, Director of Purchasing & Strategic Sourcing, (915) 212-1181

DISTRICT(S) AFFECTED:

STRATEGIC GOAL: NO. 7 – Enhance and Sustain El Paso's Infrastructure Network

SUBGOAL: 7.2 - Improve competitiveness through infrastructure improvements impacting the

quality of life.

SUBJECT:

Discussion and action on the award of solicitation 2021-1232 Playa Drain Trail Phase II – Segment 2 to TAO INDUSTRIES INC., dba HAWK Construction for an estimated award of \$617,710.01.

BACKGROUND / DISCUSSION:

The project consists of the construction of new asphalt trail along Playa Drain Trail from Knights Drive to Yarbrough Drive. The scope of work includes but not limited to the removal and disposal of existing concrete driveways, sidewalks, handicap ramps, curb, and curb and gutter, etc., in preparation for the construction of a new walking trail and included amenities. The work also involves the construction of new concrete sidewalk, curb, curb and gutter, ADA wheelchair ramps, fiber reinforced concrete curb and asphalt trail, post and cable fencing, collapsible and fixed bollards, benches, picnic tables, stone columns and a stone sign wall, wayfinding signs, distance markers, trash receptacles, landscape and irrigation improvements along the Playa Drain Trail from Knights Drive to Yarbrough Dr.

SELECTION SUMMARY:

Solicitation was advertised on May 4, 2021 and May 11, 2021. The solicitation was posted on City website on May 4, 2021. The email (Purmail) notification was sent out on May 6, 2021. There were a total eighty-five (85) viewers online; ten (10) bids were received; all being local suppliers.

CONTRACT VARIANCE:

N/A

PROTEST

No protest was received for this requirement.

PRIOR COUNCIL ACTION:

N/A

AMOUNT AND SOURCE OF FUNDING:

Amount: \$617,710.01

Source: Community Development Block Grant

580220-471-71240-2400-G7146CD66

HAVE ALL AFFECTED DEPARTMENTS BEEN NOTIFIED? __X_YES ___NO

PRIMARY DEPARTMENT: Capital Improvement

SECONDARY DEPARTMENT: Purchasing & Strategic Sourcing

DEPARTMENT HEAD:

Michael J. Vonasek P.E. Assistant Director of Construction 915 212 1800

Sam Rodriguez

Chief Operations and Transportation Officer, Aviation Director and City Engineer

COUNCIL PROJECT FORM (Low Bid)

Please place the following item on the **REGULAR AGENDA** for the Council Meeting of **August 3, 2021**.

STRATEGIC GOAL 7 - Enhance and Sustain El Paso's Infrastructure Network

The linkage to the Strategic Plan is subsection 7.2 - Improve competitiveness through infrastructure improvements impacting the quality of life.

Award Summary:

Discussion and action on the award of solicitation 2021-1232 Playa Drain Trail Phase II – Segment 2 to TAO INDUSTRIES INC., dba HAWK Construction for an estimated award of \$617,710.01. The project consists of the construction of new asphalt trail along Playa Drain Trail from Knights Drive to Yarbrough Drive.

Department: Capital Improvement

Award to: TAO INDUSTRIES INC., dba HAWK Construction

El Paso, TX

Item(s): Base Bid

Initial Term: 270 Consecutive Calendar Days

Base Bid I: \$617,710.01 Total Estimated Award: \$617,710.01

Funding Source: Community Development Block Grant Account: 580220-471-71240-2400-G7146CD66

District(s): 7

This is a Low Bid procurement, unit price contract.

The Purchasing & Strategic Sourcing and Capital Improvement Departments recommend award as indicated to TAO INDUSTRIES INC., dba HAWK Construction., the lowest responsive and responsible bidder.

It is requested that the City Manager be authorized to establish the funding sources and make any necessary budget transfers and execute any and all documents necessary for execution of this award.

Work under this unit price contract is only an estimated value and will be ordered, performed, invoiced, and paid by measured quantity. The actual cost of this contract may be higher or lower than the total estimated value and will be the sum total of unit prices at the end of the contract term.

As a part of this award, upon the review of the City Attorney, the City Engineer may without further authorization from City Council approve contract changes which are necessary for proper execution of the work and carrying out the intent of the project, which are in accordance with applicable law, do not make changes to the prices and are within the appropriate budget.

	2021-1232 Playa Drain Trail Phase II - S Bid Tab Summary	egment 2
No.	Bidder	Sum Total Base Bid
1	TAO Industries, Inc. dba Hawk Construction	\$617,710.01
2	J.A.R Concrete, Inc.	\$644,376.40
3	Del Mar Contracting, Inc.	\$682,520.25
4	Martinez Bros Contractors, LLC	\$698,628.58
5	Horizone Construction I, Ltd.	\$814,000.00
6	Allen Concrete, LLC	\$830,166.93
7	Keystone GC, LLC	\$867,099.37
8	Karlsruher, Inc. dba CSA Constructors	\$874,000.00
9	Black Stallion Contractors, Inc.	\$880,300.98
10	Jordan Foster Construction, LLC	\$987,278.00





BID TITLE: Playa Drain Trail Phase II - Segment 2
BID NO: 2021-1232

BID DA	DEPARTMENT: Capital Improvement										
				Allen Concrete, LLC		Black Stallion Contractors, Inc.		Del Mar Contracting, Inc.			
					nso, TX R 1 of 10		so, TX R 2 of 10	El Paso, TX BIDDER 3 of 10			
Item No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals		
				Base E	Bid I						
1.	1	LS	Clearing, grubbing and site preparation, complete in place.	\$45,452.00	\$45,452.00	\$46,000.00	\$46,000.00	\$26,000.00	\$26,000.00		
2.	1	LS	SWPPP Implementation, complete in place.	\$51,220.00	\$51,220.00	\$92,000.00	\$92,000.00	\$35,000.00	\$35,000.00		
3.	50	LF	Concrete Curb Removal, per plans.	\$12.00	\$600.00	\$11.50	\$575.00	\$10.00	\$500.00		
4.	500	SF	Concrete Sidewalk Removal, per plans.	\$2.50	\$1,250.00	\$1.38	\$690.00	\$6.00	\$3,000.00		
5.	9	МО	Provide and Implement Approved Traffic Control Plan.	\$3,500.00	\$31,500.00	\$2,530.00	\$22,770.00	\$2,500.00	\$22,500.00		
6.	62	CY	Excavation and embankment, per plans.	\$85.00	\$5,270.00	\$115.00	\$7,130.00	\$60.00	\$3,720.00		





BID TITLE: Playa Drain Trail Phase II - Segment 2 BID NO: 2021-1232

BID DA	TE: June 16, 2	021						DEPARTMENT: Ca	pital Improvement
				Allen Concrete, LLC		Black Stallion (Contractors, Inc.	Del Mar Contracting, Inc.	
					aso, TX R 1 of 10		so, TX R 2 of 10		so, TX R 3 of 10
Item No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Base E	Bid I				
7.	5	EA	Exist. Guardrail Removal, per plans, complete in place	\$750.00	\$3,750.00	\$402.50	\$2,012.50	\$725.00	\$3,625.00
8.	2	EA	Exist. Vehicular Gate Removal, per plans, complete in place	\$500.00	\$1,000.00	\$747.50	\$1,495.00	\$725.00	\$1,450.00
9.	1	EA	Sign Adjustment, per plans, complete in place	\$750.00	\$750.00	\$862.50	\$862.50	\$725.00	\$725.00
10.	1	EA	Exist. Chain Link Fence Removal, per plans, complete in place	\$683.00	\$683.00	\$460.00	\$460.00	\$350.00	\$350.00
11.	1	LS	Provide Reflective Pavement Markings and Signage, per plans.	\$7,100.00	\$7,100.00	\$9,200.00	\$9,200.00	\$7,000.00	\$7,000.00
12.	4,354	LF	Construct New 10-foot Wide Asphalt Trail including excavation & backfill, base prep, grading, accessible ramps and 6" concrete curbs each side, per plans, complete in place.	\$50.12	\$218,222.48	\$65.55	\$285,404.70	\$58.00	\$252,532.00





BID TITLE: Playa Drain Trail Phase II - Segment 2

BID NO: 2021-1232

BID DA	TE: June 16, 2	.021						EPARTMENT: Ca	pital Improvement
				Allen Co	ncrete, LLC	Black Stallion (Contractors, Inc.	Del Mar Contracting, Inc.	
					aso, TX R 1 of 10		so, TX R 2 of 10		so, TX R 3 of 10
Item No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Base E	Bid I				
13.	168	SY	Construct 6" Thick Concrete Paving, per plans, complete in place.	\$58.50	\$9,828.00	\$80.50	\$13,524.00	\$60.00	\$10,080.00
14.	70	SY	Construct Integral Colored Concrete Walk Paving at Trail Nodes, per plans, complete in place	\$93.00	\$6,510.00	\$115.00	\$8,050.00	\$85.00	\$5,950.00
15.	1	EA	Construct New Trailhead Monument Sign at Yarbrough Drive including all excavation and grading, per plans, complete in place	\$13,100.00	\$13,100.00	\$17,825.00	\$17,825.00	\$8,500.00	\$8,500.00
16.	2	EA	Construct New Minor Stone Column, per plans, complete in place	\$10,500.00	\$21,000.00 Contractor's Price: \$10,500.00	\$6,325.00	\$12,650.00	\$1,500.00	\$3,000.00
17.	2,174	LF	Construct New Post & Cable Fencing, per plans, complete in place	\$52.00	\$113,048.00	\$28.75	\$62,502.50	\$40.00	\$86,960.00
18.	24	EA	Construct New Fixed Bollards, per plans, complete in place	\$653.00	\$15,672.00	\$1,150.00	\$27,600.00	\$800.00	\$19,200.00





BID TITLE: Playa Drain Trail Phase II - Segment 2 BID NO: 2021-1232

BID DA	TE: June 16, 2	2021						DEPARTMENT: Ca	pital Improvement	
				Allen Co	ncrete, LLC	Black Stallion (Contractors, Inc.	Del Mar Contracting, Inc.		
					aso, TX R 1 of 10		so, TX R 2 of 10		so, TX R 3 of 10	
Item No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	
				Base E	Bid I					
19.	12	EA	Construct New Collapsible Bollards, per plans, complete in place	\$950.00	\$11,400.00	\$1,150.00	\$13,800.00	\$1,000.00	\$12,000.00	
20.	3	EA	Construct New Wayfinding Signs, per plans, complete in place	\$1,500.00	\$4,500.00	\$977.50	\$2,932.50	\$950.00	\$2,850.00	
21.	4	EA	Construct Distance Markers, per plans, complete in place	\$1,265.00	\$5,060.00	\$977.50	\$3,910.00	\$850.00	\$3,400.00	
22.	4	EA	Construct New Park Bench, including concrete pad, excavation and grading, , per plans, complete in place	\$11,596.00	\$46,384.00	\$2,875.00	\$11,500.00	\$2,500.00	\$10,000.00	
23.	2	EA	Construct New Picnic Table, including concrete pad, excavation and grading, , per plans, complete in place	\$8,733.00	\$17,466.00	\$3,162.50	\$6,325.00	\$3,000.00	\$6,000.00	
24.	3	EA	Construct New Trash Can & Pet Waste Bag dispenser with concrete pad, per plans, complete in place	\$8,140.00	\$24,420.00	\$4,025.00	\$12,075.00	\$3,200.00	\$9,600.00	





BID TITLE: Playa Drain Trail Phase II - Segment 2 BID NO: 2021-1232

BID DA	11E: June 16, 2	.021				7		CEARTIVILIVI. Co	pitai improvement
				Allen Concrete, LLC El Paso, TX BIDDER 1 of 10		Black Stallion Contractors, Inc. El Paso, TX BIDDER 2 of 10		Del Mar Contracting, Inc. El Paso, TX BIDDER 3 of 10	
Item No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Base B	Bid I				
25.	1	LS	Construct New Landscape Irrigation System, including water meters, drip emitters, remote control valves, piping, wiring, boring and sleeves under pavement, per plans, complete in place	\$44,000.00	\$44,000.00	\$74,750.00	\$74,750.00	\$52,310.00	\$52,310.00
26.	46	EA	Install 2" caliper Redbud Trees, per plans, complete in place	\$510.40	\$23,478.40	\$724.50	\$33,327.00	\$388.00	\$17,848.00
27.	11	EA	Install 3" caliper Deodar Cedar Trees, per plans, complete in place	\$1,160.50	\$12,765.50	\$805.00	\$8,855.00	\$520.00	\$5,720.00
28.	4	EA	Install 3" caliper Coolibah Trees, per plans, complete in place	\$1,856.80	\$7,427.20	\$897.00	\$3,588.00	\$550.00	\$2,200.00
29.	14	EA	Install 3" caliper Shademaster Honey Locust Trees, per plans, complete in place	\$811.80	\$11,365.20	\$770.50	\$10,787.00	\$495.00	\$6,930.00
30.	9	EA	Install 3" caliper Aleppo Pine Trees, per plans, complete in place	\$1,392.60	\$12,533.40	\$770.50	\$6,934.50	\$525.00	\$4,725.00





BID TITLE: Playa Drain Trail Phase II - Segment 2

BID NO: 2021-1232

DID DA	1E: June 16, 2	.021					L	PEPARTMENT: C	apital improvement
				Allen Co	ncrete, LLC	Black Stallion	Contractors, Inc.	Del Mar Co	ntracting, Inc.
				El Pa	aso, TX	EI Pa	so, TX	El Pa	iso, TX
				BIDDE	R 1 of 10		R 2 of 10		R 3 of 10
Item No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
			-	Base E	Bid I				
31.	19	EA Install 2" caliper Mondell Pine Trees, per plans, complete in place \$347.60		\$347.60	\$6,604.40	\$678.50	\$12,891.50	\$388.00	\$7,372.00
32.	8	EA	Install 3" caliper Mexican White Oak Trees, per plans, complete in place	\$812.35	\$6,498.80	\$897.00	\$7,176.00	\$550.00	\$4,400.00
33.	8	EA	Install 3" caliper Live Oak Trees, per plans, complete in place	\$812.35	\$6,498.80	\$805.00	\$6,440.00	\$525.00	\$4,200.00
34.	713	SY	Install Loose Aggregate Type 2, including Steel Edging and weed barrier, per plans, complete in place	\$6.00	\$4,278.00	\$19.55	\$13,939.15	\$15.25	\$10,873.25
				ф 7 00	COT 40	1		Ф050	500.0F
			Sum Total – Base Bid I (Items 1-34)		,635.18 rice: \$792,805.18	\$839	981.85		,520.25 rice: \$668,225.00
		Mobilizatio	n (Not to exceed 5% of Sum Total of Base Bid I)		531.75 Price: \$39,640.26	\$40,319.13		\$32,000.00	
	Sum Total (Base Bid I and Mobilization				\$830,166.93 contractor's Price: \$832,445.44		300.98	\$682,520.25 Contractor's Price: \$700,225.00	
						1			
	Bid Bon			Yes		Yes		Yes	
	Ammendment (s) Acknowledged				Yes		Yes		⁄es





BID TITLE: Playa Drain Trail Phase II - Segment 2
BID NO: 2021-1232

BID DA	ID DATE: June 16, 2021 DEPARTMENT: Capital Improvement										
				Horizone Cor	nstruction I, Ltd	J.A.R Cor	ncrete, Inc.	Jordan Foster Construction, LLC			
				El Paso, TX		El Paso, TX		El Paso, TX			
	ı			BIDDE	R 4 of 10	BIDDE	R 5 of 10	BIDDE	R 6 of 10		
Item No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals		
				Base E	Bid I						
1.	1	LS	Clearing, grubbing and site preparation, complete in place.	\$12,550.00	\$12,550.00	\$13,800.00	\$13,800.00	\$40,000.00	\$40,000.00		
2.	1	LS	SWPPP Implementation, complete in place.	\$39,700.00	\$39,700.00	\$34,000.00	\$34,000.00	\$53,000.00	\$53,000.00		
3.	50	LF	Concrete Curb Removal, per plans.	\$32.70	\$1,635.00	\$14.50	\$725.00	\$13.00	\$650.00		
4.	500	SF	Concrete Sidewalk Removal, per plans.	\$2.70	\$1,350.00	\$2.75	\$1,375.00	\$3.00	\$1,500.00		
5.	9	МО	Provide and Implement Approved Traffic Control Plan.	\$4,680.00	\$42,120.00	\$3,800.00	\$34,200.00	\$4,000.00	\$36,000.00		
6.	62	CY	Excavation and embankment, per plans.	\$267.60	\$16,591.20	\$46.00	\$2,852.00	\$130.00	\$8,060.00		





BID TITLE: Playa Drain Trail Phase II - Segment 2
BID NO: 2021-1232

BID DA	TE: June 16, 2	2021						DEPARTMENT: Ca	pital Improvement
				Horizone Cor	nstruction I, Ltd	J.A.R Cor	ncrete, Inc.	Jordan Foster C	Construction, LLC
					nso, TX R 4 of 10		so, TX R 5 of 10		so, TX R 6 of 10
Item No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Base E	Bid I				
7.	5	EA	Exist. Guardrail Removal, per plans, complete in place	\$752.00	\$3,760.00	\$415.00	\$2,075.00	\$800.00	\$4,000.00
8.	2	EA	Exist. Vehicular Gate Removal, per plans, complete in place	\$1,225.00	\$2,450.00	\$455.00	\$910.00	\$2,000.00	\$4,000.00
9.	1	EA	Sign Adjustment, per plans, complete in place	\$887.00	\$887.00	\$417.00	\$417.00	\$500.00	\$500.00
10.	1	EA	Exist. Chain Link Fence Removal, per plans, complete in place	\$1,485.00	\$1,485.00	\$520.00	\$520.00	\$800.00	\$800.00
11.	1	LS	Provide Reflective Pavement Markings and Signage, per plans.	\$7,935.00	\$7,935.00	\$7,040.00	\$7,040.00	\$15,000.00	\$15,000.00
12.	4,354	LF	Construct New 10-foot Wide Asphalt Trail including excavation & backfill, base prep, grading, accessible ramps and 6" concrete curbs each side, per plans, complete in place.	\$49.25	\$214,434.50	\$55.80	\$242,953.20	\$97.00	\$422,338.00





BID TITLE: Playa Drain Trail Phase II - Segment 2 BID NO: 2021-1232

אט טופן	TE: June 16, 2	:UZ1				1	L	JEPAKIMENI: Ca	ipital Improvement
				Horizone Construction I, Ltd EI Paso, TX BIDDER 4 of 10		J.A.R Concrete, Inc. El Paso, TX BIDDER 5 of 10		Jordan Foster Construction, LLC El Paso, TX BIDDER 6 of 10	
Item No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Base E	Bid I				
13.	168	SY	Construct 6" Thick Concrete Paving, per plans, complete in place.	\$62.50	\$10,500.00	\$95.80	\$16,094.40	\$115.00	\$19,320.00
14.	70	SY	Construct Integral Colored Concrete Walk Paving at Trail Nodes, per plans, complete in place	\$83.30	\$5,831.00	\$120.79	\$8,455.30	\$150.00	\$10,500.00
15.	1	EA	Construct New Trailhead Monument Sign at Yarbrough Drive including all excavation and grading, per plans, complete in place	\$4,216.00	\$4,216.00	\$3,900.00	\$3,900.00	\$15,000.00	\$15,000.00
16.	2	EA	Construct New Minor Stone Column, per plans, complete in place	\$2,030.00	\$4,060.00	\$1,950.00	\$3,900.00	\$5,000.00	\$10,000.00
17.	2,174	LF	Construct New Post & Cable Fencing, per plans, complete in place	\$59.25	\$128,809.50	\$13.00	\$28,262.00	\$18.00	\$39,132.00
18.	24	EA	Construct New Fixed Bollards, per plans, complete in place	\$911.00	\$21,864.00	\$673.00	\$16,152.00	\$1,200.00	\$28,800.00





BID TITLE: Playa Drain Trail Phase II - Segment 2 BID NO: 2021-1232

BID DA	TE: June 16, 2	021						DEPARTMENT: Ca	pital Improvement
				Horizone Cor	nstruction I, Ltd	J.A.R Cor	ncrete, Inc.	Jordan Foster Construction, LLC	
					aso, TX R 4 of 10		so, TX R 5 of 10		so, TX R 6 of 10
Item No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Base E	Bid I			-	
19.	12	EA	Construct New Collapsible Bollards, per plans, complete in place	\$1,700.00	\$20,400.00	\$1,350.00	\$16,200.00	\$1,000.00	\$12,000.00
20.	3	EA	Construct New Wayfinding Signs, per plans, complete in place	\$743.00	\$2,229.00	\$855.00	\$2,565.00	\$6,000.00	\$18,000.00
21.	4	EA	Construct Distance Markers, per plans, complete in place	\$743.00	\$2,972.00	\$390.00	\$1,560.00	\$3,500.00	\$14,000.00
22.	4	EA	Construct New Park Bench, including concrete pad, excavation and grading, , per plans, complete in place	\$2,850.00	\$11,400.00	\$2,900.00	\$11,600.00	\$4,500.00	\$18,000.00
23.	2	EA	Construct New Picnic Table, including concrete pad, excavation and grading, , per plans, complete in place	\$5,700.00	\$11,400.00	\$2,600.00	\$5,200.00	\$3,700.00	\$7,400.00
24.	3	EA	Construct New Trash Can & Pet Waste Bag dispenser with concrete pad, per plans, complete in place	\$4,600.00	\$13,800.00	\$2,650.00	\$7,950.00	\$5,000.00	\$15,000.00





BID TITLE: Playa Drain Trail Phase II - Segment 2 BID NO: 2021-1232

BID DA	DEPARTMENT: Capital Improvement											
				El Pa	nstruction I, Ltd iso, TX R 4 of 10	J.A.R Concrete, Inc. El Paso, TX BIDDER 5 of 10		Jordan Foster Construction, LLC El Paso, TX BIDDER 6 of 10				
Item No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals			
	Base Bid I											
25.	1	LS	Construct New Landscape Irrigation System, including water meters, drip emitters, remote control valves, piping, wiring, boring and sleeves under pavement, per plans, complete in place	\$85,200.00	\$85,200.00	\$68,000.00	\$68,000.00	\$55,000.00	\$55,000.00			
26.	46	EA	Install 2" caliper Redbud Trees, per plans, complete in place	\$820.00	\$37,720.00	\$504.00	\$23,184.00	\$500.00	\$23,000.00			
27.	11	EA	Install 3" caliper Deodar Cedar Trees, per plans, complete in place	\$910.00	\$10,010.00	\$676.00	\$7,436.00	\$1,200.00	\$13,200.00			
28.	4	EA	Install 3" caliper Coolibah Trees, per plans, complete in place	\$1,040.00	\$4,160.00	\$715.00	\$2,860.00	\$1,700.00	\$6,800.00			
29.	14	EA	Install 3" caliper Shademaster Honey Locust Trees, per plans, complete in place	\$910.00	\$12,740.00	\$643.50	\$9,009.00	\$1,000.00	\$14,000.00			
30.	9	EA	Install 3" caliper Aleppo Pine Trees, per plans, complete in place	\$910.00	\$8,190.00	\$682.50	\$6,142.50	\$1,400.00	\$12,600.00			





BID TITLE: Playa Drain Trail Phase II - Segment 2

BID NO: 2021-1232

BID DATE: June 16, 2021 DEPARTMENT: Capital Improvement									
				Horizone Cor	nstruction I, Ltd	J.A.R Coi	ncrete, Inc.	Jordan Foster (Construction, LLC
				El Pa	aso, TX	El Paso, TX		El Paso, TX	
					R 4 of 10		R 5 of 10	BIDDER 6 of 10	
Item No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
			-	Base E	Bid I				
31.	19	EA	Install 2" caliper Mondell Pine Trees, per plans, complete in place	\$780.00	\$14,820.00	\$505.00	\$9,595.00	\$400.00	\$7,600.00
32.	8	EA	Install 3" caliper Mexican White Oak Trees, per plans, complete in place	\$1,040.00	\$8,320.00	\$715.00	\$5,720.00	\$800.00	\$6,400.00
33.	8	EA	Install 3" caliper Live Oak Trees, per plans, complete in place	\$910.00	\$7,280.00	\$683.00	\$5,464.00	\$800.00	\$6,400.00
34.	713	SY	Install Loose Aggregate Type 2, including Steel Edging and weed barrier, per plans, complete in place	\$21.60	\$15,400.80	\$20.00	\$14,260.00	\$6.00	\$4,278.00
						T		ı	
			Sum Total – Base Bid I (Items 1-34)	\$786,220.00		\$614,376.40		\$942,278.00	
	Mobilization (Not to exceed 5% of Sum Total of Base Bid I)		\$27,780.00		\$30,000.00		\$45,000.00		
Sum Total (Base Bid I and Mobilization)		\$814,000.00		\$644,376.40		\$987,278.00			
Bid Bond		`	Yes Yes		Yes				
			Ammendment (s) Acknowledged	,	⁄es	Yes		Yes	





BID TITLE: Playa Drain Trail Phase II - Segment 2
BID NO: 2021-1232

BID DA	BID DATE: June 16, 2021 DEPARTMENT: Capital Improvement								
					Inc. dba CSA tructors	Keystone GC, LLC Martinez Bros C		Contractors, LLC	
			El Pa	aso, TX	El Paso, TX		El Paso, TX		
				BIDDE	R 7 of 10	BIDDEI	R 8 of 10	BIDDE	R 9 of 10
Item No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Base E	Bid I				
1.	1	LS	Clearing, grubbing and site preparation, complete in place.	\$7,450.00	\$7,450.00	\$4,806.25	\$4,806.25	\$5,900.00	\$5,900.00
2.	1	LS	SWPPP Implementation, complete in place.	\$15,645.00	\$15,645.00	\$36,015.75	\$36,015.75	\$20,060.00	\$20,060.00
3.	50	LF	Concrete Curb Removal, per plans.	\$14.90	\$745.00	\$9.33	\$466.50	\$11.80	\$590.00
4.	500	SF	Concrete Sidewalk Removal, per plans.	\$2.98	\$1,490.00	\$1.66	\$830.00	\$2.36	\$1,180.00
5.	9	МО	Provide and Implement Approved Traffic Control Plan.	\$2,980.00	\$26,820.00	\$1,967.44	\$17,706.96	\$6,088.80	\$54,799.20
6.	62	CY	Excavation and embankment, per plans.	\$37.25	\$2,309.50	\$9.51	\$589.62	\$29.50	\$1,829.00





BID NO: 2021-1232 BID TITLE: Playa Drain Trail Phase II - Segment 2

BID DATE: June 16, 2021 **DEPARTMENT: Capital Improvement** Karlsruher, Inc. dba CSA Keystone GC. LLC Martinez Bros Contractors, LLC

				Constructors El Paso, TX		El Paso, TX		El Paso, TX	
				BIDDER 7 of 10		BIDDER 8 of 10		BIDDER 9 of 10	
Item No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Base B	Bid I				
7.	5	EA	Exist. Guardrail Removal, per plans, complete in place	\$372.00	\$1,860.00	\$614.83	\$3,074.15	\$1,003.00	\$5,015.00
8.	2	EA	Exist. Vehicular Gate Removal, per plans, complete in place	\$521.00	\$1,042.00	\$614.83	\$1,229.66	\$767.00	\$1,534.00
9.	1	EA	Sign Adjustment, per plans, complete in place	\$372.00	\$372.00	\$106.37	\$106.37	\$365.80	\$365.80
10.	1	EA	Exist. Chain Link Fence Removal, per plans, complete in place	\$745.00	\$745.00	\$212.96	\$212.96	\$873.20	\$873.20
11.	1	LS	Provide Reflective Pavement Markings and Signage, per plans.	\$9,089.00	\$9,089.00	\$5,286.07	\$5,286.07	\$9,711.40	\$9,711.40
12.	4,354	LF	Construct New 10-foot Wide Asphalt Trail including excavation & backfill, base prep, grading, accessible ramps and 6" concrete curbs each side, per plans, complete in place.	\$65.81	\$286,536.74	\$99.37	\$432,656.98	\$60.50	\$263,417.00





BID TITLE: Playa Drain Trail Phase II - Segment 2 BID NO: 2021-1232

BID DATE: June 16, 2021 **DEPARTMENT: Capital Improvement** Karlsruher, Inc. dba CSA Keystone GC LLC Martinez Bros Contractors LLC

				Constructors El Paso, TX BIDDER 7 of 10		Keystone GC, LLC El Paso, TX BIDDER 8 of 10		Martinez Bros Contractors, LL El Paso, TX BIDDER 9 of 10	
Item No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Base E	Bid I				
13.	168	SY	Construct 6" Thick Concrete Paving, per plans, complete in place.	\$81.95	\$13,767.60	\$62.01	\$10,417.68	\$59.00	\$9,912.00
14.	70	SY	Construct Integral Colored Concrete Walk Paving at Trail Nodes, per plans, complete in place	\$126.00	\$8,820.00	\$81.35	\$5,694.50	\$56.64	\$3,964.80
15.	1	EA	Construct New Trailhead Monument Sign at Yarbrough Drive including all excavation and grading, per plans, complete in place	\$44,700.00	\$44,700.00	\$9,771.61	\$9,771.61	\$9,735.00	\$9,735.00
16.	2	EA	Construct New Minor Stone Column, per plans, complete in place	\$2,235.00	\$4,470.00	\$3,835.51	\$7,671.02	\$590.00	\$1,180.00
17.	2,174	LF	Construct New Post & Cable Fencing, per plans, complete in place	\$59.60	\$129,570.40	\$55.34	\$120,309.16	\$41.30	\$89,786.20
18.	24	EA	Construct New Fixed Bollards, per plans, complete in place	\$558.00	\$13,392.00	\$836.16	\$20,067.84	\$750.00	\$18,000.00





BID TITLE: Playa Drain Trail Phase II - Segment 2
BID NO: 2021-1232

BID DATE: June 16, 2021 **DEPARTMENT: Capital Improvement** Karlsruher, Inc. dba CSA **Martinez Bros Contractors, LLC Keystone GC, LLC Constructors** El Paso, TX El Paso, TX El Paso, TX BIDDER 7 of 10 BIDDER 8 of 10 BIDDER 9 of 10 **Total Amount Total Amount Total Amount** (Quantity X (Quantity X (Quantity X Item Approx. **Unit Price Unit Price) Unit Price** Unit Price) **Unit Price Unit Price)** Unit **Brief Description of Item** No. Quantity (In Figures) Do Not Round (In Figures) Do Not Round (In Figures) Do Not Round Only Two **Only Two** Only Two **Decimals Decimals Decimals** Base Bid I Construct New Collapsible Bollards, per EΑ 19 12 \$1,490.00 \$17,880.00 \$797.51 \$9,570.12 \$1,475.00 \$17,700.00 plans, complete in place Construct New Wayfinding Signs, per plans, 20. 3 EΑ \$1,490.00 \$4,470.00 \$3,107.32 \$9,321.96 \$531.00 \$1,593.00 complete in place Construct Distance Markers, per plans, 21. FΑ 4 \$2.235.00 \$8.940.00 \$2.330.49 \$9.321.96 \$424.80 \$1.699.20 complete in place Construct New Park Bench, including 22. EΑ concrete pad, excavation and grading, , per 4 \$7,300.00 \$29,200.00 \$2,943.08 \$11,772.32 \$3,304.00 \$13,216.00 plans, complete in place Construct New Picnic Table, including 23. 2 EΑ concrete pad, excavation and grading, , per \$7,000.00 \$14,000.00 \$3,436.82 \$6,873.64 \$5,664.00 \$11,328.00 plans, complete in place Construct New Trash Can 24. 3 EΑ & Pet Waste Bag dispenser with concrete \$6,705.00 \$20,115.00 \$4,445.64 \$13,336.92 \$1,652.00 \$4,956.00

pad, per plans, complete in place





BID TITLE: Playa Drain Trail Phase II - Segment 2
BID NO: 2021-1232

BID DATE: June 16, 2021 **DEPARTMENT: Capital Improvement** Karlsruher, Inc. dba CSA **Keystone GC, LLC Martinez Bros Contractors. LLC** Constructors El Paso, TX El Paso, TX El Paso, TX BIDDER 7 of 10 BIDDER 8 of 10 BIDDER 9 of 10 **Total Amount Total Amount Total Amount** (Quantity X (Quantity X (Quantity X Item Approx. **Unit Price Unit Price) Unit Price** Unit Price) **Unit Price Unit Price)** Unit **Brief Description of Item** No. Quantity (In Figures) Do Not Round **Do Not Round** (In Figures) Do Not Round (In Figures) Only Two **Only Two** Only Two **Decimals Decimals Decimals** Base Bid I Construct New Landscape Irrigation System, including water meters, drip emitters, remote 25. 1 LS control valves, piping, wiring, boring and \$89,400.00 \$89.400.00 \$33,999.72 \$33,999.72 \$60,837.00 \$60,837.00 sleeves under pavement, per plans, complete in place Install 2" caliper Redbud Trees, per plans, 26. EΑ 46 \$578.00 \$26,588.00 \$384.94 \$17,707.24 \$425.00 \$19,550.00 complete in place Install 3" caliper Deodar Cedar Trees, per 27. 11 EΑ \$774.00 \$8,514.00 \$645.57 \$7,101.27 \$475.00 \$5,225.00 plans, complete in place Install 3" caliper Coolibah Trees, per plans, 28. EΑ \$819.00 \$3,276.00 \$2,582.28 4 \$645.57 \$510.00 \$2,040.00 complete in place Install 3" caliper Shademaster Honey Locust 29. 14 EΑ \$737.00 \$10,318.00 \$645.57 \$9,037.98 \$680.00 \$9,520.00 Trees, per plans, complete in place Install 3" caliper Aleppo Pine Trees, per plans, 30. 9 EΑ \$782.00 \$7,038.00 \$307.42 \$2,766.78 \$615.00 \$5,535.00 complete in place





BID TITLE: Playa Drain Trail Phase II - Segment 2

BID NO: 2021-1232

BID DATE: June 16, 2021 DEPARTMENT: Capital Improvement									
				·	Inc. dba CSA tructors	Keyston	e GC, LLC	Martinez Bros	Contractors, LLC
			El Pa	aso, TX	El Pa	so, TX	El Paso, TX		
				BIDDE	R 7 of 10	BIDDE	R 8 of 10	BIDDE	R 9 of 10
Item No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Base E	Bid I				
31.	19	EA	Install 2" caliper Mondell Pine Trees, per plans, complete in place	\$578.00	\$10,982.00	\$645.57	\$12,265.83	\$395.00	\$7,505.00
32.	8	EA	Install 3" caliper Mexican White Oak Trees, per plans, complete in place	\$819.00	\$6,552.00	\$645.57	\$5,164.56	\$685.00	\$5,480.00
33.	8	EA	Install 3" caliper Live Oak Trees, per plans, complete in place	\$782.00	\$6,256.00	\$645.57	\$5,164.56	\$535.00	\$4,280.00
34.	713	SY	Install Loose Aggregate Type 2, including Steel Edging and weed barrier, per plans, complete in place	\$22.72	\$16,199.36	\$12.74	\$9,083.62	\$13.06	\$9,311.78
						ı			
	Sum Total – Base Bid I (Items 1-34)		\$848	,552.60	\$841,983.84		\$677,628.58		
	Mobilization (Not to exceed 5% of Sum Total of Base Bid I)			\$25,	447.40	\$25,115.53		\$21,000.00	
Sum Total (Base Bid I and Mobilization)			\$874	\$874,000.00 \$867,099.37		099.37	\$698,628.58		
						1			
	Bid Bond			,	⁄es	Y	Yes Yes		'es
			Ammendment (s) Acknowledged	\	⁄es	Y	'es	١	'es





BID TITLE: Playa Drain Trail Phase II - Segment 2 BID NO: 2021-1232 BID DATE: June 16, 2021 **DEPARTMENT: Capital Improvement** TAO Industries, Inc. dba Hawk Construction El Paso, TX **BIDDER 10 of 10 Total Amount** (Quantity X **Unit Price Unit Price)** Item Approx. Unit **Brief Description of Item** Quantity (In Figures) Do Not Round No. Only Two **Decimals** Base Bid I Clearing, grubbing and site preparation, LS \$9,290.40 \$9,290.40 complete in place. 2. LS SWPPP Implementation, complete in place. \$19.191.51 \$19.191.51 ΙF 3. 50 Concrete Curb Removal, per plans. \$16.02 \$801.00 500 SF Concrete Sidewalk Removal, per plans. 4. \$3.89 \$1,945.00 Provide and Implement Approved Traffic 5. 9 MO \$1,138.53 \$10,246.77 Control Plan. 62 CY 6. Excavation and embankment, per plans. \$195.33 \$12,110.46





BID TITLE: Playa Drain Trail Phase II - Segment 2 BID NO: 2021-1232 BID DATE: June 16, 2021 **DEPARTMENT: Capital Improvement** TAO Industries, Inc. dba Hawk Construction El Paso, TX BIDDER 10 of 10 **Total Amount** (Quantity X **Unit Price Unit Price)** Item Approx. Unit **Brief Description of Item** No. Quantity (In Figures) Do Not Round Only Two **Decimals** Base Bid I Exist. Guardrail Removal, per plans, complete EΑ 7. 5 \$320.43 \$1,602.15 in place Exist. Vehicular Gate Removal, per plans, EΑ \$485.93 \$971.86 complete in place 9. EΑ Sign Adjustment, per plans, complete in place \$1.094.59 1 \$1.094.59 Exist. Chain Link Fence Removal, per plans, 10. EΑ \$716.82 \$716.82 complete in place Provide Reflective Pavement Markings and LS \$6,945.03 11. \$6,945.03 Signage, per plans. Construct New 10-foot Wide Asphalt Trail including excavation & backfill, base prep, LF 12. 4,354 \$50.77 \$221,052.58 grading, accessible ramps and 6" concrete curbs each side, per plans, complete in place.





BID NO: 2021-1232 BID TITLE: Playa Drain Trail Phase II - Segment 2 BID DATE: June 16, 2021 **DEPARTMENT: Capital Improvement** TAO Industries, Inc. dba Hawk Construction El Paso, TX **BIDDER 10 of 10 Total Amount** (Quantity X Item Approx. **Unit Price Unit Price)** Unit **Brief Description of Item** No. Quantity (In Figures) Do Not Round Only Two **Decimals** Base Bid I Construct 6" Thick Concrete Paving, per 13. 168 SY \$71.70 \$12,045.60 plans, complete in place. Construct Integral Colored Concrete Walk 70 SY Paving at Trail Nodes, per plans, complete in \$113.06 14. \$7,914.20 place Construct New Trailhead Monument Sign at EΑ Yarbrough Drive including all excavation and 15. \$9,108.23 \$9,108.23 grading, per plans, complete in place Construct New Minor Stone Column, per 16. 2 EΑ \$1,138.53 \$2,277.06 plans, complete in place Construct New Post & Cable Fencing, per LF 17. 2,174 \$26.03 \$56,589.22 plans, complete in place Construct New Fixed Bollards, per plans, 18. 24 EΑ \$725.86 \$17,420.64 complete in place





BID TITLE: Playa Drain Trail Phase II - Segment 2 BID NO: 2021-1232 BID DATE: June 16, 2021 **DEPARTMENT: Capital Improvement** TAO Industries, Inc. dba Hawk Construction El Paso, TX BIDDER 10 of 10 **Total Amount** (Quantity X **Unit Price Unit Price)** Item Approx. Unit **Brief Description of Item** No. Quantity (In Figures) Do Not Round Only Two **Decimals** Base Bid I Construct New Collapsible Bollards, per EΑ 19. 12 \$1,226.81 \$14,721.72 plans, complete in place Construct New Wayfinding Signs, per plans, 20. 3 EΑ \$811.25 \$2,433.75 complete in place Construct Distance Markers, per plans, 21. EΑ \$811.16 4 \$3,244.64 complete in place Construct New Park Bench, including 22. EΑ concrete pad, excavation and grading, , per 4 \$2,443.59 \$9,774.36 plans, complete in place Construct New Picnic Table, including 23. EΑ concrete pad, excavation and grading, , per \$2,754.72 \$5,509.44 plans, complete in place Construct New Trash Can \$3,354.41 24. 3 EΑ & Pet Waste Bag dispenser with concrete \$10,063.23 pad, per plans, complete in place





BID NO: 2021-1232 BID TITLE: Playa Drain Trail Phase II - Segment 2 BID DATE: June 16, 2021 **DEPARTMENT: Capital Improvement** TAO Industries, Inc. dba Hawk Construction El Paso, TX **BIDDER 10 of 10 Total Amount** (Quantity X Item Approx. **Unit Price Unit Price)** Unit **Brief Description of Item** No. Quantity (In Figures) Do Not Round Only Two **Decimals** Base Bid I Construct New Landscape Irrigation System, including water meters, drip emitters, remote LS control valves, piping, wiring, boring and 25. \$50,070.23 \$50,070.23 sleeves under pavement, per plans, complete in place Install 2" caliper Redbud Trees, per plans, 26. 46 EΑ \$717.27 \$32.994.42 complete in place Install 3" caliper Deodar Cedar Trees, per 27. EΑ 11 \$796.97 \$8,766.67 plans, complete in place Install 3" caliper Coolibah Trees, per plans, 28. EΑ \$888.05 \$3,552.20 4 complete in place Install 3" caliper Shademaster Honey Locust 29. 14 EΑ \$762.81 \$10,679.34 Trees, per plans, complete in place Install 3" caliper Aleppo Pine Trees, per plans, 30. 9 EΑ \$762.81 \$6,865.29 complete in place





BID NO: 2021-1232 BID TITLE: Playa Drain Trail Phase II - Segment 2 BID DATE: June 16, 2021 **DEPARTMENT: Capital Improvement** TAO Industries, Inc. dba Hawk Construction El Paso, TX **BIDDER 10 of 10 Total Amount** (Quantity X **Unit Price Unit Price)** Approx. Item Unit **Brief Description of Item** No. Quantity (In Figures) Do Not Round **Only Two Decimals** Base Bid I Install 2" caliper Mondell Pine Trees, per 31. 19 EΑ \$671.73 \$12,762.87 plans, complete in place Install 3" caliper Mexican White Oak Trees, 32. 8 FΑ \$888.05 \$7,104.40 per plans, complete in place Install 3" caliper Live Oak Trees, per plans, 33. 8 EΑ \$796.97 \$6.375.76 complete in place Install Loose Aggregate Type 2, including Steel Edging and weed barrier, per plans, 34. SY 713 \$18.89 \$13,468.57 complete in place Sum Total - Base Bid I (Items 1-34) \$589,710.01 Mobilization (Not to exceed 5% of Sum Total of Base Bid I) \$28,000.00 Sum Total (Base Bid I and Mobilization) \$617,710.01 Bid Bond Yes Ammendment (s) Acknowledged Yes

2021-1232 Playa Drain Trail Phase II Segment 2								
View List								
1	Allen, Miguel	Allen Concrete, Inc.						
2	ALLEN, STEVE	SPARTAN CONSTRUCTION						
3	Armendariz, Socorro	AAndS Contractors In						
4	Austin, Fork	Wayne Enterprises						
5	Balai, Rakesh	i- Sourcing Technolo						
6	Banks, Archie	Globe Builders, LLC						
7	Bid, Judge	BidJudge.com						
8	Bjornsson, Ron	Smartprocure						
9	Brayan, Chavarria	CMD Endeavors						
10	Caballero, Luis	Caballero Electric C						
11	Campos, Jesus	Keystone Contractors						
12	Cody, Brannon	Integrated Marketing						
13	comaduran, richard	comaduran constructi						
14	Concha, David	CEA Group						
15	Construction, Ztex	Ztex Construction						
16	Counts, Tim	Accent Landscape Con						
17	David, McGlohon	Arrow Building Corp.						
18	Deg, Maria	Contractors Register						
19	Dittmar, Mark	Access Communication						
20	Dominguez, Luis	Enotsyek						
21	Downing, Raymond	R.C. Downing And Ass						
22	Drapes, Michael	MTI Ready Mix						
23	Erick, Osorio	ecoReach, Inc.						
24	Exton, Pamela	Construction Journal						
25	Figueroa, Joseph	Jordan Foster Constr						
26	Flores, Jose	Southwest Surety						
27	Gallegos, Mari	Abescape						
28	Gibson, Patty	construction Bid Sou						
29	Gomez, Priscilla	American Pavement Pr						
30	Gonzalez, Ruben	Lomeli and sons Land						
31	Gribler, Amber	Rummel Construction,						
32	Guardado, Carlos	Best Ironworks						
33	Guillen, Francisco	Keystone GC, LLC.						
34	Guillermo, Ovies	J.A.R						
35	HARRISON, MIKE	DEL MAR CONTRACTING,						

2021-1232 Playa Drain Trail Phase II Segment 2									
	View List								
36	Hernandez, Cecilia	The PlanIt Room							
37	Hessney, Steve	Bowen Industrial Con							
38	Hudson, Brad	Direx Construction,							
39	Jaramillo, Jorge	Fulcrum Contracting							
40	Jones, Kim	Prime Vendor Inc.							
41	Jorge, Ojeda	HAWK							
42	Kincaid, Kenneth	J.D. Abrams L.P.							
43	Kyle, Bellomy	ConstructConnect							
44	LEON, VIRGIL	EP MECHANICAL TECHNO							
45	Loganathan, Jayalakshmi	Dodge Data And Analy							
46	Lopez, Jose	Mirador							
47	Lopez, Rafael	Perikin Enterprises,							
48	Lowrance, Gloria	Jobe Materials, L.P.							
49	Luna, Hector	Black Stallion Contr							
50	Magdaleno, Jesus	Allen Concrete Inc.							
51	Maldonado, Mariana	Horizone Constructio							
52	Management, Source	Deltek							
53	Mendivil, Michael	Rio Grande Lighting							
54	Mercer, Garrett	MERCER TECHNOLOGIES							
55	Molina, Marcos	International Eagle							
56	mota, pablo	Martinez Brothers Co							
57	Naranjo, Lizandro	Lizandro Naranjo							
58	Olguin, Jeannette	Vitual Builders Exch							
59	Oney, Hilary	CSA Constructors							
60	Ortiz, Lupe	Prime Irrigation And							
61	Peggy, Koehn	Dodge Data							
62	Rivas, Fernando	GCC Sun City Materia							
63	romero, ron	triple m recreation							
64	Rugh, John	AMTEK							
65	Ruiz, Erika	Vertex Contractors,							
66	SALAZAR, ART	APACHE BARRICADE And							
67	Salgado, Ramon	Pride General Contra							
68	Sambrano, Michael	Gracen Eng. And Cons							
69	Sanchez, Eddie	Xceed Resources							
70	Shane, Coler	Aztec Contractors							

2021-1232 Playa Drain Trail Phase II Segment 2							
View List							
71	Soto, Daniel	DRS Rock Materials,					
72	Soto, Lorena	El Paso Sanitation S					
73	Soto, Patricia	SOTO WAndF LLC					
74	Steve, Teran	DAndH United					
75	Tanzy, Russell	Mesa electrical cont					
76	Thomas, Tim	Benningfield Steel F					
77	Valenzuela, Jesus	J.A.R Concrete, Inc					
78	Velasco, Mario	Bain Construction					
79	Wood, Jane	Construction Reporte					
80	Yahve, Gallegos	Star Pavers Construc					
81	Banquil, Lovely						
82	James, Hardison						
83	Martinez, Jessica						
84	RAMIREZ, ARTURO						
85	Watson, Frank						